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1. Missing Numbers                                                                           

 
a) 40  +  39 =   79 
b) 18  +  32 =   50 
c) 53  + 46  =   99 
d) 37  +  24 =  61 
e) 108 + 2  = 110 
f) 125 + 152 = 277 
g) 5 + 83 = 88 
h) 134 + 104 = 238 

  
 
 

2. Problem Sums 
a)  

                                                                           H   T   O 
No. of girls are                                          15   4   2 
No. of boys are                                   +     3   8   7 

 
Total no. of students                                9   2    9 

                     
Ans: There are 929 students in the school. 
 
 
       

 
b)  

                                                                           H   T   O 
No. of red balloons                                    4 12   4 
No. of blue balloons                           +     6   0   8 

 
Total no. of balloons                              1  0  3   2 

                     
Ans: There are 1032 balloons altogether. 
 

 

Answer for Exercise B (Page 25) How Many: 

  T  O 

   1 2 

   2 2  

+ 3 1 

   6 5 

 

  T  O 

   6 2 

   2 1  

+ 1 6 

   9 9 

 



 

 

 

 

 

Answer for Mental Maths (Page 29) Fill in the blanks: 

38 

0 

60 

18 

26 

16 

 

 

Answer for All Exercises (Page 35) How Many: 

  T  O 

   2    7 

   1  6      

+     8 

   3  1 

 

  T  O 

   2   8 

   1  6      

+     7 

   3  1 

 

Ila was out for 31 days. 

 

 

  

   T  O 

  21  8    

    2  4      

+  2  8 

    7  0 

 

  T  O 

 22  8 

   2  4      

+ 1  8 

   7  0 

 

Mummy bought 70 fruits.  

  T  O 

 22  7 

   3  6      

+ 2  8 

   9  1 

 

  T  O 

 22  8 

   3  6      

+ 2  7 

    9  1 

 

Selvam bought 91 balloons in all. 

 

 

 

 

 
 


